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Review for Test : Linear Functions Slope Formula: m = ‘,ﬁ'

1. Jenny is renting 2 moving truck. She will have to pay a one-time fee for insurance coverage and pay the daily
rate for the truck each day she uses it. The total cost of renting the truck in terms of the number of days the
move will take:can be modeled by the equation y = 110x + 857h = -inf.

m=.slope
What's the slope? l ' D What's the y-intercept? 85

Match the parts of the equation in column A to their correct representation in column B.

Cd“;lﬁu;n:o:‘ #‘DF da ¢ Column B _ —
xrepresent? ! Y 1. the one-time fee for insurance coverage
What does y represent? ’h}hﬂ CO_}_L; K 2. the cost per day for renting the truck; the daily rate
w‘!-:atdoesme_sgggrmrme-!* [%q'l i r{, . the number of days the move takes
What does the y-intercept reﬁ"‘esem?‘ DNE 4. thetotal cost
+ime insurarce fee

2. Find the slope of the line through the following points. | | ']
X s @ end D) b) (3,—2) and (4,—2) LESERSAE
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3. Which of the following equations represents 2 linear function? .
; linear
A y=x* B. y=—2x> Cy=z D.y=x
4.;/5eﬂ1&!ineinﬁiegraphtntherighttoanswerqustions- | ;:! T ]
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2.) Whatism? t |\ 14
—— | 0 >
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q b.} What is the x-intercept? g—a-a _2,_1' . 1[ > h}x
S NEEE
6 c.) What is the y-intercept? 12 |
L 13 I
Y="%x+3 d_J What is the equation of the line? ! iv_"; ki &

2
S.Writzmequaﬁonforalinewiﬂ'lslopeof—;andy—intermptm Y: - )( +z_}
3

6. Write an equation for a line that goes through (0, —5) with a slope of —3
- mxtb

£5=-3(0)+b
_.5:b
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7. The table below shows ordered pairs of a linear function. :
5
X Y 2 \'Q
-1 6 What is the x intercept?,
P £ e
I
3 -2 What is the y intercept? Ll a3 21 ol 1| 2R3 4] 5] 6] 7 ®
4 -4 benids B e -1
What is the Rate of Change? -2
: 3
3, T
What is the equation of the line? 3 )

\{: ax +4

8. State the slope and intercept of the following lines and write the equation for each.

AY AY :
: AT URdefined ® : L
11, Intercept: i > Intercept:
3-4-3-240-} as x-:.s §~4-3-2-1u'} a5 --L.}
7 2 !
3 Equation: 3 o Equation:
:; ! x.:3 _ﬁ wjg ? = -L‘

9. Jerod is buying a house for $65,000. His monthly payments will be $725 per month. Write an equation
Jerod could use to calculate how much money he still owes for his house as a function of how many months
he has been paying for the house. Then state what the slope, y-intercept, and x-intercept are and what they
represent, and state what the domain values (x values) represent and what the range values (y values)

represent.

Eauation: Slope: qag Slope Repr&'se:rlts.:rnonﬁle hau&&
\f: Ta5x+{o5,0X fagment
' ‘Domain (x) represents: Range (y) represents:

# of momLh‘lg pa\,men‘rs +otal owed on house

x-int represents:

‘\:’-\iﬁ:'ia\ cost of house - 6%, 000 XZS%,OOO when ho%gg s ):ar‘ci

10. Which of the following graphs show the linear equation Y ==3X -3
y y
5 WO NN < B S PRt
[ 3 L 4 4
3 3 3
B E v 2 =
€ : € = > h : >  ill .
34-3210123_45"'1 3lal-3]-2]-1d 7 2 s 3-4-3'3% 12345 S&a21di1 2 s
1 | M -1
= ] 2z B 3
= -3 P a3
3 j___ i o =
T 5 5 L 23
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11. This graph shows the amount of money earned over 6 months.

575 What does the slope of this graph represent?
Total Money 460 A. number of months
Eqmed 345 B. total money earned
230 C. months per total money earned
ki total money earned per month
01 2 3 4 5 6
Month
12. Find the slope and y- mtercept of the following lines. 13. What is the zero of the function below?
AY AY
a. ) 3 m m= l ) i
% . 00000000
L : N €0/010/0/0/0 /0
HEL e S Teesese
€ »x - I EEEE BEER )
-5]-a]-3|-2 0_123‘5 ; 3 lele! 6!
3 2 - 1919,0,9/0/0/0
i j[ Equation: Y =X-a K g‘ %%
b (0, 3) i 4,0) | 2000@e0
®® @O®
e® PE®

14. Wl;ich of the following tables contains values for an equation that

has a rate of change of —2?

A.

B.

x
(U)
N

2.4

>a

BIWIN|—Ix

N (W= =

W B (NO [ |%

|

=4

¥ C. Y X Y
0 3 -3 1 3 L .
4 >4 ?_< 0 -4 >l \< 2 -5 > -2
3 s 2 -5 3 -7
8 4 b 4 9

= =-2

15. Kevin is saving money. He starts with $100 and saves $25 each month. The graph below shows the
amount of money he has béen able to save as a function of the number of months he has been saving.

:

Money Saved

N

i
i

Davings {?)
- 8888

Time (mo)

2 4 6 & 10

What is the stope?$2 5

What does the slope represent? 0”7"' &a‘-’edf?er mon+h
What is the y-intercept? lnl'h‘?\ I am*- Sa.,VCO)

What does the y-intercept repre;éat? 0O

Is the x-intercept useful for th|s srtuatlon? Wgor hy not?
no because 1t
negarive amt Omd +h6

ot «sPen m8
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16. Identify the slope and y-intercept of: y = —5x

Slope —,5 y-intercept__ O

17. the equation ‘o slope intercept form: 18. .the equation is slope intercept form:
‘Y = 2x+H ¥ identify slope and lj z ix_,_. | 2 identify slope and
y-intercept. g y-intercept.

Slope 2

y-intercept

Slope 3/ a

y-intercept '

19. Given the graph below, identify the following:
linear equation:

2 AY
=
Slope /a . I
3
y-int: — L‘ i 711,
-a|-3]-2]-1] o 1 s
Equation of the line: -1 F
\("” Zax ~H .

&

20. Graph the line that passes through the given
points. Then identify the slope, intercepts, and
equation of the line. (5,—1) and (5,5)

42 m= nd P.-Finﬁd

S
3
] ..—-7 y-int=
1
5,-4-3-2-10123:‘3" 9 -
; x-int= b
3
2 -
V-5 N Equation: x = 5

21. Graph the following equations and identify the slope, the y-int if it has one, and the x-int if it has one:

ay=—4 b.x=3 i !
y
4 Slope_______o . Slope und ﬁ'FJn
T 4 T
3 y-intercept 3 y-intercept
T 1
3 > X < > X
-5|-al-3l-2[-1] o .11»' 2 21_4 L] x.intercept -3[-al-3/-2/-1 d -i 345 X'iﬂtEI'CEpt 3
] -2
- 3
- -4} ) ) e
5 L 23
22. Which of the following is the graph of: y = —2x + 4?
AY Y AY
‘ _ > = D - [
& A s X TR
2 R E B R
2 ' ;\ T
1 o s | P I - . Bl 25 1.
SGEEiZadal 2 45'x -5{-4]-3 2_101234‘)1 34-321012{4 gilad MR REET DY
-1 -1 A Y | I -1
2 2 N N
- -3 -3 .3‘ 1 |
= = 2 \‘ BLENEN
5 5 5 ¥s
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